Answers to Homework Questions on Page 419
1. a) Mercury and Pluto have no atmosphere.

    b) These are the smallest planets and they have low surface gravities. These properties would help explain the lack of an atmosphere. Mercury is very close the Sun, so even though its surface gravity is about the same as Mars, atmospheric gases have enough energy to escape.

2. a) Mercury, Venus, and Mars are most similar to Earth. They have fairly similar diameters, densities, and surface gravities, and they are relatively close to the Sun.

    b) Jupiter, Saturn, Uranus, and Neptune are least similar to Earth because they are large, they have atmospheres that are the same, their densities are low, and they are extremely cold and far away from the Sun.

    c) Pluto has the fewest features in common with the other distant planets.
3. Jupiter, Saturn, Uranus, and Neptune have low densities. They appear to have similar compositions.
4. Life forms on Earth need oxygen, a gas that is not found in any of the atmospheres of the four large planets. Thus, these planets would not support Earth-like life forms.

5. My Very Elegant Mother Just Stared Until Nobody Played.
